KERALA KERAKARSHAKA SAHAKARANA FEDERATION Ltd. No. 4370

An ISO Certified 9001:2015

Kerala Government Enterprise



TENDER NOTICE

File No: KFD/115/2024-ADM 3

Date:

10/06/2025

Subject:

Supply of Uniform Clothes

Reference:

KFD/115/2024-ADM 3

KERAALA KERA KARSHAKA SAHAKARANA FEDERATION Ltd (KERAFED) invites sealed quotations from reputed manufacturers/suppliers for the supply of uniform clothes for its manufacturing units at Karunagappally-Kollam and Nadvuannur-Kozhikode.

1. Tender Details:

- Tender Name: Supply of Uniform Clothes
- Tender Value: EMD Rs.5000/-
- Last Date and Time for Submission: 30.06.2025 3.00 PM
- Mode of Submission: post/in person
- **Tender Documents:** Available for download from kerafed.com or can be obtained from Kerafed Head Office, Thiruvananthapuram.

2. Eligibility Criteria:

- The bidder must be a registered manufacturer or supplier with a valid PAN and GST registration.
- The bidder should have a minimum of 4 years of experience in supplying similar uniforms.
- The bidder must have a proven track record of quality and timely delivery.
- The bidder should not have been blacklisted by any government agency in the last 2 years.

3. Submission of Quotations:

- Quotations must be submitted before the last date and time mentioned in the tender notice.
- Quotations received after the specified deadline will not be considered.
- Quotations should be submitted in a sealed envelope marked "Quotation for Uniform Clothes" to The Managing Director, Kerafed, Kera Tower, Vellayambalam, Trivandrum- 695033

4. Terms and Conditions:

- 1. Pricing: Prices quoted should be excluding all taxes and duties.
- 2. Delivery: Goods should be delivered within the specified period at the designated locations.
- 3. Quality: Goods should meet the specified quality standards and specifications.

H.O.: Kera Tower, Water Works Compound, Vellayambalam, Thiruvananthapuram - 695 033 EPABX: 2320504, Depts: 2321660, 2326209, 2321046, 2322736

[PAN:AAMAK9631N, GSTIN: 32AAMAK9631N1Z3, [TAN: TVDK00822D, GST-TDS: 32TVDK00822D1DW]

E-mail: contact@kerafed.com Website: www.kerafed.com

- 4. Payment: 100% payment within 30 days of delivery against the submission of B2B Invoice.
- 5. Any damaged, torn, or clothes with colour defects will be rejected and shall be replaced by the supplier at their own cost.
- 6. Dispute Resolution: Disputes will be resolved as per the specified mechanism.
- 7. The Earnest Money Deposit (EMD) will be refunded to unsuccessful bidders after the tender process is completed. For successful bidders, the EMD will be refunded after completion of contractual obligations.
- 8. KERAFED reserves the right to accept or reject any or all bids without assigning any reasons.

5. Additional Terms

- 1. Bid Security: Bidders may be required to submit a bid security/Earnest Money Deposit.
- 2. Inspection: Acceptance of goods will be contingent upon satisfactory inspection of samples produced.
- 4. Rejection: Goods not satisfying specifications (measurement, material, colour etc.) will be rejected.

6. Contact Information:

Senior Administrative Officer Kerafed Head Office Mob: 0471-2320504

7. Attachments:

- Specifications of Uniforms:
- Quantity Details:
- Tender Form

We encourage all interested and eligible bidders to submit their bids on time and in accordance with the tender documents.

Date: 10 06 2025

Managing Director

Specifications of Uniform Clothes

1.Fabric:

Shirting: Poly Cotton Suiting: Poly Cotton

2. Colour: Colour as per below table3. Design: Plain/Solid

4. Size Range: Approximate size of Adult Male and Female- XL.

Required quantity/colour details

No	Description	Colour	No of	Length of	No of	Total
			Employee	each cloth	Uniform	Quantity
			09 4670			(Approx)
MAL	Ē	19				
1	Shirting for Male	Olive	19	2.50 m	38	95 m
		Green				
2	Shirting for Male	White	7	2.50 m	14	35 m
3	Shirting for Male	Grey	26	2.50 m	52	130 m
4	Suiting for Male	Grey	26	1.50 m	52	78 m
5	Shirting for Male	Dark	142	2.50 m	284	710 m
		Blue				
6	Shirting for Male	Khaki	8	2.50 m	16	40 m
7	Suiting for Male	Khaki	8	1.50 m	16	24 m
8	Suiting for Male	Black	166	1.50 m	332	498 m
9	Lab Overcoat	White	3	2 nos	6	6
FEM	ALE					
10	Kurti (Top) Cloth	Olive	2	2.50 m	4	10 m
		Green				
11	Kurti (Top) Cloth	Light	24	2.50 m	48	120 m
		Blue				
12	Saree	Light	3	5.50 m	6	33 m
		Blue				
13	Churidar Bottom	Dark	24	2.5 m	48	120 m
		Blue				
14	Churidar Bottom	Black	2	2.5 m	4	10 m
15	Blouse material	Dark	3	1.25 m	6	7.5 m
		Blue				
16	Lab Overcoat	White	2	2 nos	4	4

Tender Form UNIFORM CLOTHES

From,

To,
The Managing Director,
Kerafed Head
Office,Vellayambalam,Trivandrum

Sir,

Sub: Quotation for Uniform Clothes

Ref: KFD/115/2024-ADM3/

With reference to the above, I/We would like to submit our lowest rate for supply of uniform clothes as below.

No	Description	Colour	Total Quantity (Approx)	Rate/Meter	Total Amount
1	Shirting for Male	Olive	95 m		
2	Chirting for Mole	Green	25		
2	Shirting for Male	White	35 m		
3	Shirting for Male	Grey	130 m		
4	Suiting for Male	Grey	78 m		
5	Shirting for Male	Dark Blue	710 m		
6	Shirting for Male	Khaki	40 m		
	Suiting for Male	Khaki	24 m		12
7	Suiting for Male	Black	498 m		
8	Lab Overcoat	White	6		
8	Kurti (Top) Cloth (Female)	Olive Green	10 m		
9	Kurti Top	Light Blue	120 m		
10	Saree	Light Blue	33 m		
11	Bottom Pants	Dark Blue	120 m		
12	Bottom Pants	Black	10 m		
13	Blouse material	Dark Blue	7.5 m		
14	Lab Overcoat	White	4		

EMD Details

DD No/RTG	S	Date:
Bank		
Address,		
Mobile No.		

Thanking you, Yours faithfully,

(Signature with Name/ Seal)